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SCALE 1: 1000



B R oR rEEE ESTANEIE 5E B BEYR Ak
(EFK) (FEAK) CK)

TS1 48 9% 11 2 &% NS
TS2 5 5 3 1 Bz EikE
TS3 185 185 1M 1 TE #Y -~ HIEREIETS
TS4 105 210 11 2 EAC WA
TS5 185 185 11 1 T8 Y - ERE%ET
TS6 185 185 11 1 B &Y EREET
TS7 88 88 11 1 tE WA
TS8 205 205 1" 1 TE Y wEREET
TS9 135 135 11 1 &H &Y - HERERTS
TS10 45 45 11 1 =Y SHBKEL
TS11 15 15 3 1 EA SHBFRE
TS12 7.5 7.5 3 1 Erd EiE
TS13 7.5 7.5 3 1 £ =
TS14 15 30 7 2 =B RE=
TS15 15 30 7 2 g RLE - HIFT
TS16 15 15 3 1 B iR
TS17 120 120 11 1 TE WA
TS18 21 21 3 1 £ FIER
TS19 215 215 11 1 &B &Y EREET
TS20 120 120 11 1 T8 &Y EREET
TS21 158 158 11 1 £ &Y ERE%ET
TS22 215 215 11 1 & &Y EREET
TS23 47 47 11 1 T8 &Y EREET
TS24 176 176 11 1 B &Y EREET
TS25 50 100 11 2 tE BTKRE=E




TS26 95 95 11 Gl ) NES

TS27 5 5 3 B R FfT

TS28 118 118 11 Gl fEY -~ HEREETS
TS29 16.25 32.5 1 TE @Y #EREETS
TS30 16.25 32.5 11 B EY - HIEREET S
TS31 200 200 11 Bl EY - HIEREETS
TS32 150 150 11 ol @Y~ HEBREETS
TS33 162 162 11 Gl fEY - HEREETS
TS34 189 189 11 TE @Y - #EREETS
TS35 7.5 7.5 3 Bl HIFfT

TS36 7.5 7.5 3 Bl BikE

TS37 180 180 11 TE EY - HIEREEET S
TS38 107.5 215 11 Bl EY -~ HEREETS
TS39 5 5 3 =8 BikE

TS40 15 15 3 Bl REE

TS41 62 62 11 Bl ) NES

TS42 15 15 3 B R

TS43 22.5 45 5 Bl ETHRE=E
TS44 7.5 7.5 3 =8 BiRE

TS45 109.5 219 1 B EY - EREEET S
TS46 114 228 11 B fEY - HIEREETS
TS47 15 15 3 Bl EY -~ HEREETS
TS48 87.5 175 11 ol @Y~ HEREETS
TS49 15 30 11 Gl fEY - HEREETS
TS50 15 30 1 £ BTHREE

TS51 150 150 11 B fEY - HEREETS




